H & 0l & AHS B Ml A

Sl
HH2LZH(EZW)
=2l EER-E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
42,064,061 30,321,276 11,742,785
= 2,000,000
£ 800,000
= 17,477
Al 30,246,584
HY2HZH(Z2M) 66,643 67,463 AB20
J1I=288l 66,643 67,463 A820
JI=23Hl 66,643 67,463 AB20
201 2egh=3| 14,540 11,440 3,100
01 At2t2ltl 14,540 11,440 3,100
Oget=2HI(38) 2,740
—JIZARES 7Y 30,0002 162 480
—GRFAUEA I 20,0002 52 100
—2Z2HES 7 70,0002 122 840
—A7 2 =48] 60,0002 «12& 720
—MEAss 10,0002 x5+ 123 600
oJl2ss Sl
8,000& 102 *102/ 12 9,600
223 ISy 200,000+ 11 2,200
202 04| 45,923 47,843 1,920
01 =LHO LI 20,123 22,043 21,920
OJI12BS =0 10,523,002 10,523
OB2X 2=z OHI(SUEE o, £
ANEE 2l S) 160,0002 x5+ 122 9,600
02 A0 25,800 25,800 0
O2&E N0l 170,000& 1~ 122 2,040
O24)| 2HY, CRE4H(ZDE)H0]
ul 180,000 x11&«12& 23,760
203 HR=H] 4,980 4,980
04 A2 LRFAI 4,980 4,980
ORMEZZYg 2=t 415,000 128 4,980
204 e A 1,200 1,200
01 Mg R 1,200 1,200
ound 100,0002 x1&* 122 1,200
CEaiF 319,100 360,360 241,260
CRAFFN 319,100 360,360 N41,260
CAFN a2 16,920 56,920 240,000
201 er2&| 12,920 12,920 0
01 At2teltl 12,920 12,920 0
O=2BAE 1,000
—T2EAEZ XM UM
502 %10,0000H*12] 500
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2A E23
M C2AIE2
Chel: oM S2AIE |X2a] EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—g9IZ(58) IRl
1,800 #40, 000km~1CH*10% 7,200
—S€g3= =74l
1,800 32, 000km+2CH*10% 11,520
—4gslE =72
1,800 *45, 000km+1CH10% 8,100
—g8a A SE3=E X =2l
1,000,000 *43] 4,000
Okz2+ =41 || 22,320
—247| 220
1,800 +80|EA 102 % 123 17,280
—=47] ==clyl 2,500,000 *23] 5,000
—2A0| BN 4B
40,0002 *12] 40
OLEXSHEE =S| WESAF & 22l
Hl 1,000, 0002 x4 12| 4,000
OE2RAES 22X 2L (U
32X 50,0003 *2LH*22] 200
OE2RAES 22X SZNLRSS(E
OIEH) 50,000& x2CH*23 200
OEZRAEs ASXHE NSIHAl
20,0002 4 LH 23] 160
OE2RAES 2EXE IS 240
g 65,0002 =2CH 130
—48 55,0002 *2CH 110
OL2RANE+ HHELD 323
120,000~ 128 1,440
203 g4l 1,000 1,000
03 A=A =] 1,000 1,000
Okz s 2axce 1,000,000 1,000
206 MH=Hl 90,428 85,000 5,428
01 MZH| 90,428 85,000 5,428
Okz2+ A 728 60,528
—0tAZ 125, 1403 »200= 25,028
—S5t=(25ke) 12,0003 %2,000 24,000
—HAE(SH) 5,000& *1,0002 £ 5,000
—E2Rs ADY HHPY
6,500,000 14] 6,500
Holithdl Satzs 28
199,000 *100= 19,900
oL+ 100,000 *100& 10,000
401 Al HIZL 01| 1,203,240 769,788 433,452
01 Al&H| 1,200,000 765,000 435,000
OHEEZZ A2 900,000,000& 900,000
OEEEZ W =HIJI SA
300,000,000 300,000




2A E23
M C2AIE2
thelr ehds S2AIE KXzl EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
03 A& S CHYI 3,240 4,788 1,548
OAIE20HbI 900,000,000 *0. 36% 3,240
ZLE Y L= AL FHURZ EXAY 5,800,000 0 5,800,000
=] 800,000
Al 5,000,000
401 Al HIZ S OHYI 5,800,000 0 5,800,000
= 800,000
Al 5,000,000
01 Al&HI 5,800,000 0 5,800,000
OZAE S|4 S22 AMHel duxz &
Xl At 5,800,000,000& 5,800,000
= 800,000
Al 5,000,000
SEIC X LHY0S uXZ M WXZ EXISA 750,000 750,000
401 AlEHIZ S 0HBI 750,000 750,000
01 AlZH| 750,000 750,000
O&EIC & LH20E uXtz sl uiZ &
XIS A 750,000,000 750,000
W22 (AR HX72) HIHXZ &2 SA 300,000 300,000
401 AIEHIZ SR 0HYI 300,000 300,000
01 Al&HI 300,000 300,000
W22 (A X2 HIHXZ 22 S
At 300,000,000 300,000
ISDRZ X2 2HF DA 250,000 0 250,000
401 AlEHIL 2] 250,000 250,000
01 A&l 250,000 250,000
2SNIZ X2 HI DA
250,000,000 250,000
SfHEH SXAIE EXISA 200,000 0 200,000
401 AIEHIZ SR OHYI 200,000 200,000
01 Al&HI 200,000 200,000
O=22Hat XA EXISA
200,000,000 200,000
ZAZ XNE 252 MEH SA 500,000 0 500,000
401 Al HIZ 2018 500,000 500,000
01 Al&H| 500,000 500,000
OZgds Ag 22 HEE SA
500,000,000 500,000
Slts =252 MEESAM 520,000 0 520,000
401 Al HIZ R 0HbI 520,000 520,000
01 AlZ28| 520,000 520,000
OS0ts =222 HEESA
500,000,000 500,000
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M C2AIE2
Chel: oM S2AIE |X2a] EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OS0HE 2d SFNEA
20,000,000& 20,000
2YE U 255 552 WEZTA 600,000 0 600,000
401 Al&HIZ S| 600,000 0 600,000
01 Al&H| 600,000 0 600,000
OBYE Y 25E 552 WEHZA
600,000,000 600,000
Zddsd 2= UHSA 500,000 0 500,000
401 Al HIZL S 0HYI 500,000 0 500,000
01 Al&HI 500,000 0 500,000
OZAE 2= WHMSA
500,000,000 500,000
2EES 2= WHSA 200,000 20,000 180,000
401 AIEBIZ2TH] 200,000 20,000 180,000
01 Al&H| 200,000 20,000 180,000
OBYUE 2ESAWH ZA
200,000,000 200,000
Z2dcl 2 ZHISA 100,000 0 100,000
401 AIEHIZ R HYI 100,000 0 100,000
01 Al&H| 100,000 0 100,000
Ozl B ZHISA 100,000,000 100,000
oS del &2 4 UL SA 200,000 0 200,000
401 Al HIZ 2018 200,000 0 200,000
01 Al&H| 200,000 0 200,000
Ox & 8l &2 == HLSA
200,000,000 200,000
S0 SZAE SZB0X B0 SA 300,000 0 300,000
401 Al HIZ R 0HbI 300,000 0 300,000
01 AlZ28| 300,000 0 300,000
O==8 S3AY SZB0X &0lZSAt
300,000,000 300,000
=85 W &2 g8 g4 iaAa £X) 85,000 0 85,000
401 Al HIZL 201 85,000 0 85,000
01 Al&H| 85,000 0 85,000
=225 U &2 gH Y42 XaA ZX
85,000,000& 85,000
HstZet =N M2 HEIAM 180,000 0 180,000
401 Al HIZ S OHbI 180,000 0 180,000
01 AlZ2H| 180,000 0 180,000
OFZ=2AUs Y MP22 ZXNE=8aH A
Z3A 180,000,000 180,000
AEH(Z0, 2Bt BYPRA)ER A2 302,160 0 302,160
401 Al HIZL 201 302,160 0 302,160
01 Al&H| 300,000 0 300,000




2A E23
M T2 AL 4_’; cl
Chel: oM S2AIE |X2a] EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Ot (=0t - & - 32XY) &2 RA2te
300,000,000& 300,000
03 Al =2 0HHI 2,160 0 2,160
OAlI4 S THYI 300,000, 0002 *0.72% 2,160
C2E QHAEXE &X € =mA2el 100,720 20,000 80,720
401 AIEHIZ SR OHYI 100,720 20,000 80,720
01 Al&HI 100,000 19,784 80,216
O==28 HHEXE X & RA2e]
100,000,000 100,000
03 Al 2CHYI 720 216 504
OAIE20HbI 100,000, 0002 *0.72% 720
AdANE s S2AIAEE 41 R 72 100,000 50,000 50,000
401 AIZHIX S0HH 100,000 50,000 50,000
01 AlZ2H| 99,100 49,460 49,640
OIS S E2AXTAIEE X £ =
Ael 99,100,000 99,100
03 A& CHYI 900 540 360
OAIZ20HbI 100,000,000 0. %% 900
Ecte #X € ®|AZel 50,000 0 50,000
401 Al HIZL 201 50,000 0 50,000
01 Al&H| 50,000 0 50,000
O=cte EX & A2l
50,000,000 50,000
L0l & 22 =4 100,720 50,000 50,720
401 Al HIYL S0 100,720 50,000 50,720
01 AlZ8| 100,000 49,460 50,540
OR+20l &€ 22 =4 100,000,000 100,000
03 Al 20HHI 720 540 180
OAIZ 20l 100,000,000 *0.72% 720
C2EAE X & |2 50,000 20,000 30,000
401 AlEHIZ 2018 50,000 20,000 30,000
01 Al&H| 49,460 19,784 29,676
O==2PAE EX & FAlZc
49,460,000 49,460
03 AlZ = THHI 540 216 324
OAl& S THYI 50,000,000 *1.08% 540
C2RX2(WE, HE 3) Ex=ELAY 3,350,080 5,862,000 A2,511,920
=W E=22AY 494,000 525,000 A31,000
401 AlEHIZL S0 494,000 525,000 A31,000
01 Al&HI 494,000 521,692 N2T7,692
OO0 B2 SA 494,000,000 494,000
02848 C2RE2 FY(FD]) oEFEH ¢ A 2 1,500,000 0 1,500,000
401 AIEHIX SO 1,500,000 0 1,500,000




2A E23
M C2AE2
o9l CS2RX2(DY, HY S) B4LEAA COR
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 Al&HI 1,500,000 0 1,500,000
O20284 2742 FL(FI]) A4dEy o
de 29 1,500,000,000& 1,500,000
SN CE2EFAEE B - LS 500,000 500,000
401 Al HIZ S OHbI 500,000 500,000
01 A28l 500,000 500,000
OZA T2RE2 FUANTFH (AL At
S E223M 500,000,000& 500,000
2200 2 W2 2HZ FHISAM 230,000 230,000
401 AlEHIZL R0 230,000 230,000
01 Al&HI 230,000 230,000
OZ20 0 & HE2F1 JHISA
230,000,000& 230,000
Z2AZ Mot B84 A 140,000 140,000
401 AIZHIX S0HH 140,000 140,000
01 AlZHI 140,000 140,000
OFLE Metu E+22 SAt
140,000,000& 140,000
dEE LW B B SM 300,000 0 300,000
401 AlEHIZL SO 300,000 300,000
01 Al&HI 300,000 300,000
OzlgH g2dn B B2 2AM
300,000,000 300,000
gS= &1 egd 3k 48 58 89 35,000 0 35,000
401 A& HIX R0 35,000 35,000
01 AlZH| 35,000 35,000
O8Z1A & MLIZCIOHIIE ¢EY &X E
gd 2& 9 ,000,000& 35,000
wg 2 HE 72l 151,080 100,000 51,080
401 A2 HIRL R 0HbI 151,080 100,000 51,080
01 Al&HI 150,000 99,100 50,900
Oug ¥ BHE sl 150,000,000 150,000
03 Al 20HHI 1,080 900 180
OAIE20HbI 150,000,000 *0.72% 1,080
SN Do MYE2 RA2e 2,013,680 1,526,000 487,680
M=t EZ X2kl 2,013,680 1,526,000 487,680
201 er2 3| 80,000 80,000 0
02 S3=gHl 80,000 80,000 0
OW==0KHEEZ |X2e IS
80,000,000 80,000
308 AFAIEHMSOIH 1,933,680 1,446,000 487,680
07 X2 EE2 1,933,680 1,446,000 487,680
ON===IHMHRAEZ IXSHHRSS
1,933,680,000 1,933,680




2A: S22
M CZAdate

o9l T2 X WA (49 52)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
E2 71X HEAY 483,024 500,000 16,976
T4 MU MNAEZ HEHIHSSA 483,024 500,000 216,976
401 AlZHIZ SO 483,024 500,000 16,976
01 Al&H| 480,000 496,400 16,400
O734t Ml Mz dSEIHSSA
480,000,000 480,000
03 AIESTHYI 3,024 3,600 Ab76
OAl& Yl 480,000, 000& *0.63% 3,024
CZ2AIE 2L 22,966,808 16,795,825 6,170,983
= 2,000,000
< 3,477
Al 20,963,331
o - SHEEZZ N 5,306,098 8,619,145 A3,313,047
= 3,477
Al 5,302,621
wSE A 12,980 11,457 1,523
= 3,477
Al 9,503
101 @124H| 11,380 10,057 1,323
= 3,286
Al 8,094
04 JIZtN22 XS E 11,380 10,057 1,323
OAlzZE s =
81,2803 *140& 11,380
[ 3,286
Al 8,004
201 er23 | 1,600 1,400 200
= 191
Al 1,409
01 AtR2telHl 1,600 1,400 200
OFYUYA € 1,600,000 1,600
= 191
Al 1,409
SOCAHE =&l 7,688 7,688
201 =3 2,688 2,688
01 AtR2t2lt] 2,688 2,688
OE=2ZAIEE =l
8,000 x48+7&d~ 123 2,688
202 04l 5,000 5,000
01 =LHAHI 5,000 5,000
O2LH SOCAF X YE FA0H
5,000,000& 5,000
g20in ALSA 875,000 0 875,000




2A:

E M

S22
T2 AlIE 2]

e 2 - SHERZ JiE 2 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
308 XXM SOIH 875,000 875,000
07 AX R FE= 875,000 875,000
OgE2lin ALZ A 875,000,000 875,000
L sp1sd(2Y) HEIZA 300,000 1,300,000 1,000,000
401 AIZHIX S0 300,000 1,300,000 1,000,000
01 AlZH| 300,000 1,295,320 A995,320
OXYE splsd () SRZESA
300,000,000 300,000
TS H(SE 8551 8) HE3AM 140,504 0 140,504
401 Al HIZL S 0HYI 140,504 140,504
01 Al 140,000 140,000
ORT65H(SE B8-S 48) HESM
Etgd =AIES 140,000,000 140,000
03 A2 THYI 504 0 504
OAIZ=0i8I 140,000, 0002 *0.36% 504
SHEZZ1BSH(TL~SF)HESA 1,072,300 5,000,000 A3,927,700
401 AlZHIZ SO 1,072,300 5,000,000 A3,927,700
01 A28l 1,000,000 4,914,000 A3,914,000
Os0EEZZ 18 (MY~SF)HESA
1,000,000,000 1,000,000
02 Zeltl 70,000 72,500 22,500
OS0EEZ 18EM (TA-S)HLSA 2
cltl 70,000,000 70,000
03 AIZ 2 THYI 2,300 13,500 A11,200
OAle 20l 1,000,000,000& *0.23% 2,300
SHEC22S M (XA AIRM) SEFTA 800,000 400,000 400,000
401 AIEHIL2OH] 800,000 400,000 400,000
01 Al 794,960 397,120 397,840
OS0EZ2ARE M (RA ATM) S$EEZ
At 794,960,000 794,960
03 Al 2CHYI 5,040 2,880 2,160
OAIE220HbI 800,000,000& *0.63% 5,040
SHECZ2BSH(ME-LS)HZ T SA 1,797,626 1,000,000 797,626
401 AIEHIX R0 1,797,626 1,000,000 797,626
01 AlZH| 1,793,500 993,700 799,800
OS0EZZ20B65HE (HE~QS)HZHSA
1,793,500,000 1,793,500
03 A& S CHYI 4,126 6,300 A2, 174
OAIZ 20HHI 1,793,500,000& %0.23% 4,126
SHEZZ2RSH (DY HE0IS)SZHIA 200,000 200,000
401 Al HIZL 01| 200,000 200,000
01 Al&HI 198,560 198,560
Osolstzoesd(dd dZ2018) &2
SAt 198,560,000& 198,560




SA: C23)
g T2 Ald el
el 2T - S0EC2 LB (ctol: &
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
03 A& S CHYI 1,440 0 1,440
OAIE20HbI 200,000,000 *0.72% 1,440
SEYT SUAAFW(ZE11EH) S2HE T TA 100,000 100,000
401 AIEHIX R0 100,000 100,000
01 A28l 100,000 100,000
ORTEH(2UA-MFI) 22 2 Eig
d ZAEY 100,000,000 100,000
SAAHEEZONE 2el 17,660,710 8,176,680 9,484,030
= 2,000,000
Al 15,660,710
e HEEZ SELHEZA 4,210,000 1,123,000 3,087,000
401 AIZHIZL SO 4,210,000 1,123,000 3,087,000
01 Al&H| 4,000,000 1,101,800 2,898,200
OBYE HEER & EREA
4,000,000,000& 4,000,000
02 Zcltl 200,000 17,200 182,800
Ol 200,000,000 200,000
03 Al& S THHI 10,000 4,000 6,000
INE=E S s 4,000,000,000& %0.25% 10,000
NSate MYE2 HESAHASAE ~ZH) 4,000,000 1,806,480 2,193,520
= 2,000,000
Al 2,000,000
401 AlZHIZ SO 4,000,000 1,806,480 2,193,520
= 2,000,000
Al 2,000,000
01 AlZH| 3,989,200 1,800,000 2,189,200
ONSatet JUEZ IHESAHNS L~
&) 3,989,200,000& 3,989,200
= 2,000,000
Al 1,989,200
03 A& CHYI 10,800 6.480 4,320
OAIZ 20l 4,000,000,000&1%0.27% 10,800
CAHEEZ 2365 (MLRSIH-SHell HESe) 1,002,700 0 1,002,700
HESA
401 A& HIX R0 1,002,700 1,002,700
01 AlZH| 1,000,000 1,000,000
OZANHEEZ HE3BsH (MRS
HEIS0) HESA 1,000,000,000& 1,000,000
03 Al 20HHI 2,700 0 2,700
OAIZ20HHI 1,000,000, 000&%0.27% 2,700
CAHEEZ S2-1BSE (LS SAIEAACIA 4,010,000 200,000 3,810,000
LIS A
401 AlZHIZ S0 4,010,000 200,000 3,810,000
01 Al&H| 4,000,000 198,560 3,801,440
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T2 AlIE 2]

SRl TAIAEEZ2OHE 2l EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OZAAEEZ S21-1B3H (LS 2AE
AARISAIHIEN R E S AL
4,000,000,000& 4,000,000
03 AIZ 2 THYI 10,000 1,440 8,560
OAIZ S THYI 4,000,000,000& 0. 25% 10,000
CAAHBCRZ S-S5 (dE X2~ A &H2l)H 1,003,600 450,000 553,600
EISA
401 AIEHIZ SR 0HYI 1,003,600 450,000 553,600
01 Al&HI 1,000,000 446,760 553,240
OEANHEER S22-05 6 (H& D X2~F
& &R HESA 1,000,000,000 1,000,000
03 A2 THYI 3,600 3,240 360
OAIE20HbI 1,000,000,000& *0. 36% 3,600
CAHBER AZ2-68SH (S UHDIS)HESA 830,000 500,000 330,000
401 Al HIZ S OHbI 830,000 500,000 330,000
01 A28l 824,771 496,400 328,371
OZAAHEEZ AZ22-68548 (LS A4S0t
S)HE3A 824,771,000 824,771
03 Al 20HHI 5,229 3,600 1,629
OAIZ 20l 830,000, 000& *0.63% 5,229
CedAd AC/HE ~EEY 500,000 500,000
401 AlEHIZ 201 500,000 500,000
01 Al&H| 500,000 500,000
Ozzds B2l 28
500,000,000 500,000
CAHBCZ 21654 (82X~ +F) N4 704,410 0 704,410
SAt
401 AIEHIZ SR 0HYI 704,410 704,410
01 Al&HI 700,000 700,000
OZAHEEZ H21-6ad(E2E+E-82
X=) HESA 700,000,000 700,000
03 Al 2CHYI 4,410 0 4,410
OAI4 2THYI 700,000,000& *0.63% 4,410
CAHBEZ H2145H(SE &7 AHe~EM)EE 300,000 0 300,000
S A
401 Al HIZ R 0HbI 300,000 300,000
01 AlZ28| 297,840 297,840
OZANHEEZ HRIH4SH(SEL YN~
2HI}) SELEZAL 297,840,000 297,840
03 Al 20HHI 2,160 0 2,160
OAI4 20HbI 300,000,000 *0.72% 2,160
CAHBER Z22-558(H2AH~ZEIC) B EEHS 500,000 0 500,000
At
401 AIEHIX R0 500,000 500,000
01 A28l 500,000 500,000




2A: S22
M CZAdate

SRl TAIAEEZ2OHE 2l EER=E)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
OSANHEEE 222556 (U2AAHel~=E
IC) EZEZAL 500,000,000 500,000
SAHBEZ 42120458 (01240 XYE2) HHE 500,000 0 500,000
SA
401 AIEHIZL R THYI 500,000 0 500,000
01 AlZHI 500,000 0 500,000
OZANHEETE A2Z1-2U4SHE (0IZ &S &Y
C2) HESA 500,000,000& 500,000
SAAHEEZ 22260756 (LS 2S0tS) HES 100,000 0 100,000
At
401 AlIEHIZL 2 0HYI 100,000 0 100,000
01 AlZH| 99,100 0 99,100
OZANHEEE 22260756 (ZLS IS0t
2) HE3A 99,100,000& 99,100
03 AIZ 2 0HHI 900 0 900
OAIZ=20HbI 100,000,000 0. %% 900
A& Ol 43t 311,084 193,724 117,360
== 14,000
Al 297,084
A& 0lg = 311,084 193,724 117,360
= 14,000
Al 297,084
A& BRI AR & 24 49,924 49,924 0
201 =3 4,404 4,404
01 AFS2t2ltl 4,404 4,404
OgBt+==H| 1,900
— A& 018 43t 22 MH 1,900
=Ll 60,0002 154 900
g8 M 2002 +1,0000H+52] 1,000
OXEAN etdw= W M=
2,000& %100 200
OXMENOIE gdat =& SE|
8,000 x3& 8L« 123 2,304
202 04| 520 520
01 2L AL 520 520
OX&ENA 0l 43t =4 520,000& 520
307 212+01™ 45,000 45,000
06 2= 45,000 45,000
OAIRI A 28 It
45,000,000 14 45,000
AUEN SEXNJEH 29 6,800 6,800 0
201 L2 1,800 1,800
01 AtR2telbl 1,800 1,800
Oget+=ZHI 1,800




2A E23
3 E 018 243
telr & 018 =& (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—SEAEdH 298 =2 M
60, 00021 %5725 600
~ZHNAME 2Y 25 7Y
100,000 * 122 1,200
206 TH=H 5,000 5,000
01 =l 5,000 5,000
OREN=2 25 U B 2
5,000,000 5,000
ANMEHEZ FX2te 70,360 70,000 360
401 Al HIZ 2018 70,360 70,000 360
01 Al&H| 70,000 69,460 540
ONEANERLO RN S
50,000,000 50,000
OXNEHEZ = & 88 HY
20,000,000 20,000
03 Al£ = THHI 360 540 A180
OAIE20HHI 50,000,000 *0.72% 360
S AN SEAUAE =29 5,000 5,000 0
201 Ler=23| 5,000 5,000
02 S3=4gHl 5,000 5,000
Ok & MIe= 2,500, 0002 204 5,000
REI0I8 BHEHE 2 100,000 0 100,000
401 AlEBI L2 0HY 100,000 100,000
01 Al&H| 100,000 100,000
ORI 018 Bas HE 2 8
100,000,000 100,000
AEA A 29 20,000 17,000 3,000
201 er23| 2,000 2,000 0
01 At2teltl 2,000 2,000 0
Ot 29 =25+ 2,000,000 2,000
206 M=l 5,000 5,000
01 M=4l 5,000 5,000
OXEA & oHHE 2 5,000,000 5,000
401 Al HIZL S 0HHI 13,000 10,000 3,000
01 AlZ8| 13,000 10,000 3,000
OXEAN 2IUHA EH 13,000,000 13,000
A& 22 UL 2 2124l XS 45,000 45,000
101 @124H| 45,000 45,000
M ORIMZZ2NSE S 45,000 45,000
ONEAN & UL 29 22|
45,000,000& 45,000
K& HAAME AX(BI=I| 8) 14,000 0 14,000
= 14,000
401 Al HIZL 01| 14,000 0 14,000




2N &2
M AHEA 0|2 243t
&2 INEA 018 s& (SH9 H2)
2 - IE!
SN - BB SRI(BIH) - NISAY - BES O]t e HlRE2
= 14,000
01 AlEHI 14,000 14,000
O=ss 28 NEHAEE &
14,000,000& 14,000
= 14,000




